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Question Number : 1 Question Id : 68634048603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634048604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634048605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634048606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634048607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634048602 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634048603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634048604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634048605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faarfia &1 wfsaa® i g-
1. foRiy vy A 9gr g3l
2. fo=Iy 39 9 &0 fovar |

3. BICT DR

4. o9y TU ¥ W@ faar )

Options :

686340192009. 1
686340192010. 2
686340192011. 3
686340192012. 4

Question Number : 4 Question Id : 68634048606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634048607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Id : 6863401583
Question Shuffling Allowed : Yes

Is Section Default? : null
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Question Number : 6 Question Id : 68634048608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634048608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634048609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634048609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634048610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340192029. 1
686340192030. 2
686340192031. 3
686340192032. 4

Question Number : 8 Question Id : 68634048610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634048611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634048611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634048612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634048612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340192040. 4

Question Number : 11 Question Id : 68634048613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634048613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634048614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634048614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634048615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS 1S &I TR ¥ Ua @ O 911 T ¢ | afe 9% g0 v &1 Wigd U geR I 9adl § auT $
TR 56° 1 HI0T S0 U 22 m BI g1 a7 Ol . ol I FT a1 € (n = 2_?2)

[y

: 22-1— m
2

| o]

.30 m

3.28m
4. 353111

Options :

686340192049. 1
686340192050. 2
686340192051. 3
686340192052. 4

Question Number : 13 Question Id : 68634048615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634048616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634048616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634048617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634048617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634048618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634048618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634048619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634048619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634048620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634048620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634048621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634048621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afg 20 T 2023 DI HIGAR B, AT 20 T 2010 P TG BT B A1 & 4TI
1. HITEdR
 HHaR

 LEHAR
4, §eidar

Options :

686340192073. 1
686340192074. 2
686340192075. 3
686340192076. 4
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Question Number : 20 Question Id : 68634048622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS T U TR U6l & IR (RSP 39 &5 & AR I8 IR 96 6 |
D. B SR E & 099 3R C & ardl 3R dRI 8
D.H¥ il IRATRIZ
H.ESRFPHAAT
G.BIRCHHHAG
SO @ifel & A & 31 grft iR BT B
el fased g4
1.F
2.C
3.H
4.E
Options :
686340192077. 1
686340192078. 2

686340192079. 3
686340192080. 4

Question Number : 20 Question Id : 68634048622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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el fawea g

1..E

| )

i
3.H
4. E

Options :

686340192077. 1
686340192078. 2
686340192079. 3
686340192080. 4

Question Number : 21 Question Id : 68634048623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fer g faifesr TR o 31efi usell Yord areg fasTs g |
TS Saglall

TS ol
1S dedt

4. @18 fereq

Options :

686340192081. 1
686340192082. 2
686340192083. 3
686340192084. 4

oy
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Question Number : 21 Question Id : 68634048623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg fafemr ek & 31efi= ueeh Yog ogH faers 5|
1. 1S Sl

TS ol
1S deat

4. @18 fereq

Options :

686340192081. 1
686340192082. 2
686340192083. 3
686340192084. 4
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Question Number : 22 Question Id : 68634048624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

AT T I
YR BRI 7 aredg e fier

A |35 14 L [GHH 31 3iEPR

B. [or =i 22 I1. [FoR ¢ ofied & 3GPR

C. [arsa 25 111 [enfé Ta=al B ATPR
D. |3=5¢ 32 IV. [Fifdene STERl &1 ffier
fFafead fawedl & T 9ol SR &1 909 Sifog ;

1. A-II. B-I, C-III. D-IV
2. A-L. B-II, C-IIIL. D-IV
3. A-IL B-1. C-IV, D-III
4. A-L. B-II. C-IV, D-III

Options :

686340192085. 1
686340192086. 2
686340192087. 3
686340192088. 4

Question Number : 22 Question Id : 68634048624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor
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WA ST &1 3T55g Hifee sfteR
A |3 14 I [GHA1 &1 SHUBR
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C. [arfwse 25 111 [enfHe Taaa1 31 ATDR
D. [3w5G 32 IV. [Fifdenie JuaRl &1 iIeR]
frafafad foeedl & T 9gt SR 1 g i

1. A-II. B-I. C-III. D-IV
2. A-I. B-11. C-III. D-IV
3. AL B-1. C-IV. D-III
4. A-1. B-II. C-IV. D-III

Options :

686340192085. 1

686340192086. 2

686340192087. 3
686340192088. 4

Question Number : 23 Question Id : 68634048625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
od S5@ U Tl SISl ol § ol 3ud! YT 391 gad ! -
1. et 3
T 3ot
3T Jeit
4. IS IS

Options :

686340192089. 1
686340192090. 2
686340192091. 3
686340192092. 4
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Question Number : 23 Question Id : 68634048625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



od S5@ U Tl SISl ol § ol 3ud! YT 391 gad ! -
1. TTferet

T 3ot

3T Jeit

4. IS IS

Options :

686340192089. 1
686340192090. 2
686340192091. 3
686340192092. 4
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Question Number : 24 Question Id : 68634048626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYT I 5519 PR YD -1 T H T T3 1 duT-e e FHuiia Pl g
SY II: A1 IR T, AP axq SMUFTE & d8d. Saxd® a% 7ol o

SWRIad HY- & 3f1cild H, i Ay 71y fasedl § 3 a8 ugad 3R &l 99 DI
1. AR I SH Wl 8
2. BYA T IR G Tad &
3. FUT 1 HEl 6, W] U 11710 ©

4. YT 1 TTad, AfbT HYF 11 Jel o

Options :

686340192093. 1
686340192094. 2
686340192095. 3
686340192096. 4

Question Number : 24 Question Id : 68634048626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A a1 Py R U &
BY I 5519 TRBR FAD -1 AT 1 T3 &1 deni-e ged Fuia Sl g
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1. BYT1 IR 1 G e €
2. YT AR I &1 Tad &
3. BYT 1 e 8. A YA 11 7TAd &

4, PYT I, AT YT I 98l §

Options :

686340192093. 1
686340192094. 2
686340192095. 3
686340192096. 4

Question Number : 25 Question Id : 68634048627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U srsarl fod wa 3 Uefid g
1. fordpe
RECC I E)
fafeas
4. dsfired

[ ]

L

Options :

686340192097. 1
686340192098. 2
686340192099. 3
686340192100. 4

Question Number : 25 Question Id : 68634048627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl srsarft g @a 4 dafid g
1. fobabe

RICETI]
faferme
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Options :

686340192097. 1
686340192098. 2
686340192099. 3
686340192100. 4
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Part B: M A Education

Section Id : 686340958
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401584
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634048628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

It means using general ideas. principles or methods to new situations

1. Knowledge

| )

. Application
3. Analysis
4. Synthesis

Options :

686340192101. 1
686340192102. 2
686340192103. 3
686340192104. 4



Question Number : 26 Question Id : 68634048628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9T diad s gRfRufaal & 9 yRong. fagid Hyar Tsfadl &1 W ST -

1. 304

REEGLLY|
4. AT

Options :

686340192101. 1

686340192102. 2

686340192103. 3
686340192104. 4

| )
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Question Number : 27 Question Id : 68634048629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cognative domains pertains to :-

1. Mental abilities

[ )

. Attitudes
3. Feelings
4. Physical movements

Options :

686340192105. 1
686340192106. 2
686340192107. 3
686340192108. 4

Question Number : 27 Question Id : 68634048629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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RS gradg
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| )

e
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4. TRIR Tfafaferat

Options :

686340192105. 1
686340192106. 2
686340192107. 3
686340192108. 4

L

Question Number : 28 Question Id : 68634048630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s not principle of Programmed learning ?

1. Principle of active participation

| )

. Principle of self-pacing

Lad

. Principle of validation
4. Principle of long steps

Options :

6863401921009. 1

686340192110. 2

686340192111. 3
686340192112. 4

Question Number : 28 Question Id : 68634048630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
<70 O T g Siftm & Ry T8 &

iebT FgITial &1 Rigia

G- T fisid

SadH &1 Rrgia

4. e GIUH o1 g (ges 9 &1 Rigia)

oy
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Options :



686340192109. 1
686340192110. 2
686340192111. 3
686340192112. 4

Question Number : 29 Question Id : 68634048631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who took the process of learning as a synthetic activity which brings forth complete solutions of problems.

1. Kohler & Koffka

[ )

. E.L.Thorndike
3. 1P Pavlov
4. Garden Murphy

Options :

686340192113. 1
686340192114. 2
686340192115. 3
686340192116. 4

Question Number : 29 Question Id : 68634048631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepe SifenTe Ufehan &1 U Tgid TTiafafs & &9 § foran S Sawansil &1 gul SE1e URdd Sl o7

1. DIFTR 3R PITD]
SRR EE
31541, yraeia
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Options :

686340192113. 1
686340192114.2
686340192115. 3
686340192116. 4

| )
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Question Number : 30 Question Id : 68634048632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who defined psychology as the study of human behaviour and human relationships.

1. Boring Lang feld

| S

. Skinner
3. Crow and Crow

4, Woodworth

Options :

686340192117. 1
686340192118. 2
686340192119. 3
686340192120. 4

Question Number : 30 Question Id : 68634048632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Tas o 09 UdeR 3R H-d T &1 30— §dal § 2
1. SIfaT o1 thes
R
HIUS Wl
4. g3ay
Options :
686340192117. 1
686340192118, 2

686340192119. 3
686340192120. 4

| )
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Question Number : 31 Question Id : 68634048633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which theory of learning concludes that an individual makes many random etforts to reach a goal.
1. Learning by Insight
2. Learning by Imitation and Observation
3. Learnimng by Trail and Error

4. Learning by Conditioning

Options :
686340192121. 1



686340192122. 2
686340192123. 3
686340192124. 4

Question Number : 31 Question Id : 68634048633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340192121. 1
686340192122. 2
686340192123. 3
686340192124. 4

Question Number : 32 Question Id : 68634048634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a CS-CR bond is established by conditioning a stimulus which is similar to the CS, can produce the
same response. it called :

1. Stimulus Oifferentiation

| )

. Experimental Extinction
3. Stimulus Variation
4. Spontaneous Recovery

Options :

686340192125. 1
686340192126. 2
686340192127. 3
686340192128. 4

Question Number : 32 Question Id : 68634048634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340192125. 1
686340192126. 2
686340192127. 3
686340192128. 4
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Question Number : 33 Question Id : 68634048635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A man 18 an organism and his survival depends upon adaption to the emironment. This statement belongs to
................ of intelligence.

1. Biological Approach

2. Operational Approach

Lad

. Psychological Approach
4. Philosophical Approach

Options :

686340192129. 1
686340192130. 2
686340192131. 3
686340192132. 4

Question Number : 33 Question Id : 68634048635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340192129. 1
686340192130. 2

686340192131. 3
686340192132. 4
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Question Number : 34 Question Id : 68634048636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is not component of Simulated Teaching ?

1. Diagnosis

[

. Prescription
3. Micro teaching
4. Evaluation
Options :
686340192133. 1
686340192134. 2

686340192135. 3
686340192136. 4

Question Number : 34 Question Id : 68634048636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S U T 3BT &0 BT U 81 ©)
1. FR=au
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L



Options :

686340192133. 1
686340192134. 2
686340192135. 3
686340192136. 4

Question Number : 35 Question Id : 68634048637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In this mode. Technology is used to enhance the quality of presentation and accuracy of work. choose the
correct mode from the options given below:

1. Resource Mode

| )

. Link Mode

[F%]

. Control Mode

e

. Support Mode

Options :

686340192137. 1
686340192138. 2
686340192139. 3
686340192140. 4

Question Number : 35 Question Id : 68634048637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS B q@-I1d & YarT Hesi- &1 uadd! iR S &1 TRIGdl g6 & o favar omar § | Fafea
o ¥ g Tl -

1. GgieH ars
oo g

4. 99 e ars
Options :
686340192137. 1
686340192138. 2

686340192139. 3
686340192140. 4

| )
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Question Number : 36 Question Id : 68634048638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who expounded multi-factor theory of intelligence?

1. Charles Spearman

| B

. E. L. Thorndike
3. Thurstone
4. LP. Pavlov
Options :
686340192141. 1
686340192142. 2

686340192143. 3
686340192144. 4

Question Number : 36 Question Id : 68634048638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g & GgPRD (HAGId DI ARAT fhg fob of 2
1. 9o R
2.3, USSP
3. Y&
4. 31541 Oraaa

Options :

686340192141. 1
686340192142. 2
686340192143. 3
686340192144. 4

Question Number : 37 Question Id : 68634048639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which 1s not maxims of teaching ?
1. From know to unknown
2. From simple to complex

3. From definite to indefinite

4. From concrete to abstract

Options :
686340192145. 1



686340192146. 2
686340192147. 3
686340192148. 4

Question Number : 37 Question Id : 68634048639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A0 A DIH 1 RIeu g gl 8 2
1. 1 ¥ 3FITd
2. IR Y ol

3. fAfEa 9 sifafag
4. 9d I sd

Options :

686340192145. 1
686340192146. 2
686340192147. 3
686340192148. 4

Question Number : 38 Question Id : 68634048640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Project method 1s developed by :
1. Becon
2. Kilpatric
3. William James

4. Schiller

Options :

686340192149. 1
686340192150. 2
686340192151. 3
686340192152. 4

Question Number : 38 Question Id : 68634048640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340192149. 1
686340192150. 2
686340192151. 3
686340192152. 4
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Question Number : 39 Question Id : 68634048641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who has prepared the first intelligence test?

1. Jean Piaget

| )

. Edward Tolman
3. Binet-Simon

4. Hull

Options :

686340192153. 1
686340192154. 2
686340192155. 3
686340192156. 4

Question Number : 39 Question Id : 68634048641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T gfg Wi fe duR fan
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Options :
686340192153. 1



686340192154. 2
686340192155. 3
686340192156. 4

Question Number : 40 Question Id : 68634048642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A psychologist name who suggested main three elements (Direction. Adaption and Criticism) of intelligence.

1. Thurstone

[

. Charles Spearman
3. Alfred Binet
4. Howard Gardrer

Options :

686340192157. 1
686340192158. 2
686340192159. 3
686340192160. 4

Question Number : 40 Question Id : 68634048642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UY Bl (57614 gfd & diF W dd (ME¥H . 3P e, 3R Srai=-n) wedd bl
1. e

e wieRE

s fad

BIaTS SR

Options :

686340192157. 1
686340192158. 2
686340192159. 3
686340192160. 4
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Question Number : 41 Question Id : 68634048643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Knowledge about matter is empirical. So it 1s real knowledge deut the knowledge about God heaven hell 15
based on religion and belief so it 1s not definite.”

This concept 1s related to school of philosophy.

1. Idalism
2. Realism
3. Naturalism
4. Pragmatims

Options :

686340192161. 1

686340192162. 2

686340192163. 3
686340192164. 4

Question Number : 41 Question Id : 68634048643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340192161. 1
686340192162. 2
686340192163. 3
686340192164. 4

Question Number : 42 Question Id : 68634048644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who accept that the education is the process of reconstruction of experiences and adjustment with
Environment.

1. Rousseau

2. Kilpetric

3. John Dewey

4. Herbest Spencer
Options :
686340192165. 1
686340192166. 2

686340192167. 3
686340192168. 4

Question Number : 42 Question Id : 68634048644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&I U AT § o g sruel & O fa= ofik araraxviia go-ag & uiehar §:-
1. =4l
fhadfcs
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Options :

686340192165. 1
686340192166. 2
686340192167. 3
686340192168. 4
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Question Number : 43 Question Id : 68634048645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year. Regional College of Education. Mysore has developed an approach for writing objectives?

1. 1971

[ )

. 1972
3. 1973
4.1974

Options :



686340192169. 1
686340192170. 2
686340192171. 3
686340192172. 4

Question Number : 43 Question Id : 68634048645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S i 3 TeH e, B 3 B A ol & S 523 3 T w U o o of 2

1.1971

|

. 1972
3.1973
4.1974

Options :

686340192169. 1
686340192170. 2
686340192171. 3
686340192172. 4

Question Number : 44 Question Id : 68634048646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"The presence of Stimulus is not necessary pr-condition of response" which learning theory accept this
concept 7

1. Trail Error Theory

[ ]

. Operant Conditioning Theory
3. Classical Conditioning Theory
4. Remforcement theory

Options :

686340192173. 1
686340192174. 2
686340192175. 3
686340192176. 4

Question Number : 44 Question Id : 68634048646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"M?Gﬂ@ﬁ.%%%ﬂa{mﬁqﬁ-ﬁwﬁﬁ"ﬁ?m YT FHgid 28 YR B WieR
Hdl 6:-
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Options :

686340192173. 1
686340192174. 2
686340192175. 3
686340192176. 4

| )

(5]

=

Question Number : 45 Question Id : 68634048647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who proposed four processes for observational learning i.e. attention. retention, behavioral rehearsal and
motivation ?

L. Vyogotsky
2. Bandura
3. Thorndike
4. Pavlov

Options :

686340192177. 1
686340192178. 2
686340192179. 3
686340192180. 4

Question Number : 45 Question Id : 68634048647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340192177. 1
686340192178. 2
686340192179. 3
686340192180. 4

Question Number : 46 Question Id : 68634048648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s worth teaching ? is written by :
1. Krishna Kumar
2. Anil Sadgopal
3. Anita Rampal
4. Meenakshi Thapan
Options :
686340192181. 1
686340192182. 2

686340192183. 3
686340192184. 4

Question Number : 46 Question Id : 68634048648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g} e g frads gy fordt it § -
1 PUFAR
. et FeTTaTe
3. ST IHYT
4. Hi-&T YT

| B



Options :

686340192181. 1
686340192182. 2
686340192183. 3
686340192184. 4

Question Number : 47 Question Id : 68634048649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Men are Mortal.

Ram is a man.

Therefore. Ram is mortal.

The above is an example of :

1. Inductive Reasoning

| B

. Deductive Reasoning

L]

. Abstract Reasoning

e

. Symbolic Reasoning

Options :

686340192185. 1
686340192186. 2
686340192187. 3
686340192188. 4

Question Number : 47 Question Id : 68634048649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T AR B ©

TP B §
A AH ARG |

SYge A1 [ HD] SEERUI T -

[

1. STTHITHS [da=q

[

TS f9dTa

3. Srgfat fad=rT

4. UdidTd® fdd=

Options :



686340192185. 1
686340192186. 2
686340192187. 3
686340192188. 4

Question Number : 48 Question Id : 68634048650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Cogmitive Development theory was given by :

1. Arnistotle

[ )

. Eyesenck
3. Jean Piaget

4. Robert Gagne

Options :

686340192189. 1
686340192190. 2
686340192191. 3
686340192192. 4

Question Number : 48 Question Id : 68634048650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THTES [aorg gid [6g & gR1 f5ar mr or.-

1. SR¥],

2. TSI
3. Sii- foarst
4, G TH

Options :

686340192189. 1
686340192190. 2
686340192191. 3
686340192192. 4

Question Number : 49 Question Id : 68634048651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Knowledge 1s produced. verified and distributed is the subject domain of :

1. Metaphysics

2

. Logic

LFS]

. Epistenology

=y

. Ontology

Options :

686340192193. 1
686340192194. 2
686340192195. 3
686340192196. 4

Question Number : 49 Question Id : 68634048651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg fawa & H 3H wgd genita 3R faaid favar ST g:-
1. e Hiai
DR
I HiE
4. I g8
Options :
686340192193. 1
686340192194, 2

686340192195. 3
686340192196. 4

| ]

L

Question Number : 50 Question Id : 68634048652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Annihilation of Caste' is written by:

1. Subhash Chandra Bose

2. Sant Ranidas

LIPS ]

. C. Rajgopalachari
4. B. R. Ambedkar

Options :
686340192197. 1



686340192198. 2
686340192199. 3
686340192200. 4

Question Number : 50 Question Id : 68634048652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 3H1P BRe fbad grT fordi i § -
1. gHY I5 S
2. T fdar
3. 91, TeATIRERT
4. 9l 3R, ESDH

Options :

686340192197. 1
686340192198. 2
686340192199. 3
686340192200. 4

Question Number : 51 Question Id : 68634048653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The regulating body of professional teacher education programmes is :

1. NCERT

[

.NCTE
3. AICTE
4. UGC

Options :

686340192201. 1
686340192202. 2
686340192203. 3
686340192204. 4

Question Number : 51 Question Id : 68634048653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IS e Rran seal & [t ames Fem g-
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Options :
686340192201, 1
686340192202. 2

686340192203. 3
686340192204. 4

Question Number : 52 Question Id : 68634048654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Minister of Education in Independent India was :

1. Dr. B. R. Ambedkar

]

2. Maulana Abul Kalam Azad
3. 1. B. Kripani
4. Shyama Prasad Mukherj:

Options :

686340192205. 1
686340192206. 2
686340192207. 3
686340192208. 4

Question Number : 52 Question Id : 68634048654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340192205. 1
686340192206. 2
686340192207. 3
686340192208. 4

Question Number : 53 Question Id : 68634048655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The National Education Commission (1964-66) was headed by:

1. VXK. R. V. Rao

[ )

. Mushirul Hasan
3. Moonis Raza

4. D. 8. Kothan

Options :

686340192209. 1
686340192210. 2
686340192211. 3
686340192212. 4

Question Number : 53 Question Id : 68634048655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT FRAGT STATT (1964-66) PT fedefd forem fepar -
1.4l &. 3R, 4. 34
2. gf=d g8
3. g Tel
4. 31 TH. BIBRI

Options :

686340192209. 1
686340192210. 2
686340192211. 3
686340192212. 4

Question Number : 54 Question Id : 68634048656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Operation Blackboard is a remarkable recommendation of:

1. NEP-2020

| B

. NEP-1986

3. NCF-2005

4, NCFSE-2023
Options :
686340192213. 1
686340192214. 2

686340192215. 3
686340192216. 4

Question Number : 54 Question Id : 68634048656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIREHA & als [bad! U iy dwxfd g2
1. T9.5.41 2020
2. 79311 1086
3. TA.I1LUP 2005
4. T H UH TEE 2023

Options :

686340192213. 1
686340192214. 2
686340192215. 3
686340192216. 4

Question Number : 55 Question Id : 68634048657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Raag Dabari - A satirical novel as the education system of India 1s written by:
1. Shrilal Shukla
2. Harishankar Parsai
3. Munshi Prem Chand

4. Mahashweta Devi

Options :
686340192217. 1



686340192218. 2
686340192219. 3
686340192220. 4

Question Number : 55 Question Id : 68634048657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I SRERT -HIRd B FRI&T WOTTelt IR U aieTd 39019 fhgd gRI ferar mang 2
. el Yo
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Options :

686340192217. 1
686340192218. 2
686340192219. 3
686340192220. 4
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Question Number : 56 Question Id : 68634048658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who opened the first school for girl education in 19487
1. Mother and Sri Avribondo
2. Iravati Karve and D. D. Karve
3. M. G. Ranade and Ramabai Ranade

4. Savitribai Phule and Fatima Sheikh

Options :

686340192221. 1
686340192222. 2
686340192223. 3
686340192224. 4

Question Number : 56 Question Id : 68634048658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340192221. 1
686340192222. 2
686340192223. 3
686340192224. 4

Question Number : 57 Question Id : 68634048659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sarva Shiksha Abhiyan was launched in which year?

1.2002

[ )

. 2000
3. 2005
4, 2000
Options :
686340192225. 1
686340192226. 2

686340192227. 3
686340192228. 4

Question Number : 57 Question Id : 68634048659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ta e sifira foog oo amey fosar T or.-

1.2002

|

. 2000
3. 2005
4. 2009

Options :
686340192225. 1



686340192226. 2
686340192227. 3
686340192228. 4

Question Number : 58 Question Id : 68634048660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The institution of caste survives on:
1. Endogamy
2. Exogamy
3. Mesogamy
4. Polygamy
Options :
686340192229. 1
686340192230. 2

686340192231. 3
686340192232, 4

Question Number : 58 Question Id : 68634048660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1 Bt F= Fafafad § 9 feg sud s wEdi g

iy faarg

fawirdig faarg

. UFHagdl faare
 ggYa! faarg

Options :

686340192229. 1
686340192230. 2
686340192231. 3
686340192232. 4

—
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Question Number : 59 Question Id : 68634048661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to present guidelines of UGC, the allowed 'sumilarity index’ in any research. article, monograph etc.
18

1. 10 or below 10 percent

| )

. 20-30 percent
3. 50 percent
4. 100 percent

Options :

686340192233. 1
686340192234. 2
686340192235. 3
686340192236. 4

Question Number : 59 Question Id : 68634048661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g, off. ¥, B goaH [REHEE & SR, faw 2y, o, oy sife & s s g9t (it
c2aq) fpa e e -

1. 10 Uid=rd 3yar g9y &4
. 20-309Tdg1a

3. soufderd

4. 1009fc2rd

Options :

686340192233. 1
686340192234, 2
686340192235. 3
686340192236. 4

| )

Question Number : 60 Question Id : 68634048662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The opposite of variable is:

1. Construct

[ )

. Constant

Lad

. Hypotresis

4. Result



Options :

686340192237. 1
686340192238. 2
686340192239. 3
686340192240. 4

Question Number : 60 Question Id : 68634048662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR P e TS T8 2
1. fFmfor
2. AR
3. Q@1
4. gRumH
Options :
686340192237. 1
686340192238. 2

686340192239. 3
686340192240. 4

Question Number : 61 Question Id : 68634048663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MOOCs stand for:

1. Mindful observation opinion course
2. Major offline online certificate
3. Mass observation overt curriculum
4. Massive open online courses

Options :

686340192241. 1

686340192242. 2

686340192243. 3
686340192244. 4

Question Number : 61 Question Id : 68634048663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340192241. 1
686340192242. 2
686340192243. 3
686340192244. 4

Question Number : 62 Question Id : 68634048664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Emphasised pedagogical encouiter as an experience.

1. Rouessau

b2

. Locke
3. Dewey

4, Plato

Options :

686340192245. 1
686340192246. 2
686340192247. 3
686340192248. 4

Question Number : 62 Question Id : 68634048664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"RI&OTH A U 344 § R e o faar up
1.=40
2. |l
3. 31l
4. @l

Options :
686340192245. 1



686340192246. 2
686340192247. 3
686340192248. 4

Question Number : 63 Question Id : 68634048665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Sriniketan and Santiniketan were established by:
1. Satyaedra Nath Tagore
2. Abnindra Nath Tagore
3. Manikanandan Tagore

4. Rabindra Nath Tagore

Options :

686340192249. 1
686340192250. 2
686340192251. 3
686340192252. 4

Question Number : 63 Question Id : 68634048665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fifea SR Ffaaa @1 RITTT f9d gRI @177 ot 2
1. §d= 1Y ¢TR
2. 3fEI= AT SR
3. AFTHEA SR

4. IG5 Y TR

Options :

686340192249. 1
686340192250. 2
686340192251. 3
686340192252. 4

Question Number : 64 Question Id : 68634048666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Banking Model of Education is critiqued by :

1. John Dewey

2

. Paulo Friere
3. John Holt
4, Maria Montersori

Options :

686340192253. 1
686340192254. 2
686340192255. 3
686340192256. 4

Question Number : 64 Question Id : 68634048666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fR1&11 1§ gl B ST g gRI ST 41 2
1. Wi Sid
TR Y

| )

S glee
4. TR HiCH

Options :

686340192253. 1
686340192254. 2
686340192255. 3
686340192256. 4

[#5]

Question Number : 65 Question Id : 68634048667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Bharat: Ek Khoj, the tele-serial is based on 'Discovery of India' written by:
1. Gopal Krishna Gokhale
2. Mahatma Gandhi
3. Jawaharlal Nehru

4. 1. B. Kriplam

Options :
686340192257. 1



686340192258. 2
686340192259. 3
686340192260. 4

Question Number : 65 Question Id : 68634048667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR TP @0l [Shar] 3% Sl & dell-di U TR YR1ae® [dad gRT [eRar a1 41 2
1. TIOT N1 TTE e

2. HeTd i

3. valdigdle g

4. Sl

Options :

686340192257. 1
686340192258. 2
686340192259. 3
686340192260. 4

Question Number : 66 Question Id : 68634048668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: on is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Teacher 1s like a gardener in Frobel teaching system and he is responsible for the proper
development of chald.

Reason R: The child is the focal point of education in Frobel teaching system. Frobel aware of the fact that
being develop according to his inherent capability.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

686340192261. 1
686340192262. 2
686340192263. 3
686340192264. 4



Question Number : 66 Question Id : 68634048668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%‘cﬂ$ﬂ:{ﬁ“qm{%' : Qﬁmiﬁ(ﬁsseﬂir::llfi}%Fq ﬁﬁ!ﬁﬂ%?ﬁﬁﬂﬁﬁ@ﬂieasonR)%
0,

Sy Y= AIRIad 319 yorell § feqrae Us Jiel Hifd § duT ag 9ras o 3fd fderg & fou
StRadt 8

HRUT RIS AT FOTel H 10 181 1 3% [§g ¢ (e 99 7 3 aRkfad § & aas ot
SR &I & SRR It fawfaa giar g

SWRIGd DY & el §.A1d 3T U fadedi I 3 9a8 Sued IR &1 99+ HifoIs:

1. A SRR &1 T8l & 3R R. A I Tgl AR &
2. AR RIF Gel & IR R A DI el RS -8l &
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Options :

686340192261. 1

686340192262, 2

686340192263. 3
686340192264. 4

Question Number : 67 Question Id : 68634048669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: on 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Man gets opportunities for meditation in the higher social environment and he learns to live
indiscipline.

Reason R: Discipline not as an external order but as an internal feeling, So far discipline the need of
higher social environment.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct

Options :

686340192265. 1
686340192266. 2



686340192267. 3
686340192268. 4

Question Number : 67 Question Id : 68634048669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 G YA AU § - U SUPHUA (Assertion A) & =0 U faTRad § ol GIRT 3HP BRUI (Reason R) P
w0H .

ﬁwu;a:ﬁwﬁﬁqﬁﬂwﬁwﬁﬁwﬁmﬁ)a%m 3{AER YT Xl © HR T8 SR H ST
HEdr s |

BRUT R ST [t TRy % & &9 F 161, 310 U SiaRe Srufd §.91d Ua SR & fau 3=
QAT URaS B ATGIHAT 8ol §

SWRIad DY & 3Tl H,74 iU U fae eyl ¥ ¥ a8 Sugad IR &l 999 DI
1. A SR R 3 961 € SR R. A S el AR ©
2. A SRR G U8l § IR R. A I U5 ARAT T8l &
3. AR B OfpT R TR T
4 AT TRl G AfPTR TE B

Options :

686340192265. 1
686340192266. 2
686340192267. 3
686340192268. 4

Question Number : 68 Question Id : 68634048670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: on 18 labelled as Assertion A and the other is labelled as Reason R
Assertion A: The cognitive and affective educational objectives are achieved in classroom teaching.
Reason R: The cognitive objective are realized in various training programmes.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :



686340192269. 1
686340192270. 2
686340192271. 3
686340192272. 4

Question Number : 68 Question Id : 68634048670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁ%aﬁﬁwﬁqw% : WWW[RSS&'&DHA}%W ﬁﬁ!ﬁﬁ%?ﬁﬁﬂﬁ@ﬂieamnR)%
g4,

P A-SFHIES R gUIdl e Iewdi & Uit SarTd e & g & |
BRI R-UFAIED Serdl o sy afirsr uiiem srisdi 4 gl ¢ |
SURIGd HY & 3l H,74 U U fae eyl § 9 &8 S IR &l 999 DI
1. A R R &I 961 & SR R. A D el IR 3
2. A SRR & W81 § SIR R, A B Hel RS 76 &

3. A9 g AfpR 3T B

4. AT AfPIR I B

Options :

686340192269. 1
686340192270. 2
686340192271. 3
686340192272. 4

Question Number : 69 Question Id : 68634048671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: on is labelled as Assertion A and the other is labelled as Reason R

Assertion A: There is no difference between measurement and evaluation.

Reason R: Evaluation can be both quantitative and qualitative whereas measurement is about Quantification
only.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct



Options :

686340192273. 1
686340192274. 2
686340192275. 3
686340192276. 4

Question Number : 69 Question Id : 68634048671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ATATABIR T

4. AT AfPIR I B

[

L]

Options :

686340192273. 1
686340192274. 2
686340192275. 3
686340192276. 4

Question Number : 70 Question Id : 68634048672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: on is labelled as Assertion A and the other is labelled as Reason R
Assertion A: We should stress upon girl education.
Reason R: An educated gir] has better prospects for finding a groom.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct

Options :

686340192277. 1

686340192278. 2

686340192279. 3
686340192280. 4

Question Number : 70 Question Id : 68634048672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂﬁmmm% : WMW[ASSW&DHA}%W ﬁﬁ!@ﬁ%?ﬁWGﬁW(ReasonR)a’f
94,
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SWRIGd DY & el §.A1d 3T U fadedi I 3 9a8 Sued IR &1 99+ HifoIs:
1. A SR R 3 961 € SR R. A S el AR ©
2. A SRR G U8l § IR R. A D1 95! ARAT T8l §

3. AT e Al R 3T B

4 AT ETAPIRTAR

Options :

686340192277. 1
686340192278. 2
686340192279. 3
686340192280. 4

Question Number : 71 Question Id : 68634048673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: on is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Homework gives students the opportunity to learn at individual level.

Reason R: Homework must be give to keep children busy at home.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct
Options :
686340192281. 1
686340192282.2

686340192283. 3
686340192284. 4

Question Number : 71 Question Id : 68634048673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%aﬁﬁwﬁqm% : WMW[ASSEHMHA}%W ﬁ%@ﬁ%ﬁ@ﬂmW(ReamnR)a’f
94,

Y= AT faeniddl & safaard TR IR RaH &7 a8 UgH $dl ¢ |
HRU R-Geifal & R IR o970 a4 & [0 3796 edr Hawy (a1 o1 91iey)
SWRIGd DY & el §.A1d 3T U fadedi I 3 9a8 Sued IR &1 99+ HifoIs:
1. A SR R 3 961 € SR R. A S el AR ©
2. A SRR G U8l § IR R. A D1 95! ARAT T8l §

3. AT e Al R 3T B

4 AT ETAPIRTAR

Options :

686340192281. 1
686340192282. 2
686340192283. 3
686340192284. 4

Question Number : 72 Question Id : 68634048674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: on is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Gandhi saw untouchability as a crime against humanity.
Reason R: Gandhi believed in the equality of all human beings.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct
Options :
686340192285. 1
686340192286. 2

686340192287. 3
686340192288. 4

Question Number : 72 Question Id : 68634048674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S IEEA ISR TR 1

HYA 1 - TITelt 4 SRgRGA] Bl Al & (%G U SOy & &0 0 S@g |

Y 11: TITelT Tt Hrra S &1 SHar § 9y wEd 9

SWRIGd DY & el §.A1d 3T MU fadedi I 3 9a8 Sued IR &1 99 DifoIs:

1. ®YT 1 AR I SF 9 &
2. FYF 1 AR I EHT T &

3. PYTI A e, AfbT YT I 3T &

4 BYTI IS, AP TP TT &

Options :

686340192285. 1
686340192286. 2
686340192287. 3
686340192288. 4

Question Number : 73 Question Id : 68634048675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A teaching model has the following elements. Put these elements in a sequence.

A, Syntax

B. Focus

C. Principle of Reactions
D. Social System

E. Support System

Choose the correct answer from the options given below:
1.AB.D.C.E
2.B.AD.CE
3. AB.CD.E

4 B.A.CD.E

Options :

686340192289. 1
686340192290. 2
686340192291. 3
686340192292. 4

Question Number : 73 Question Id : 68634048675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferelt fRrgrur =g o FafiRed aw@ gid @ (-5 dwl &l U 3o d H oaiyd $ifeiy)

A 9/ fd9R

B. &H S50l

c. wfafera & fgia
D. JrHIfSTh WoITeit
E. Jeral HoIrd!

i fau 77T faeedi O T gl STR S 99 Hifult |

1. AB.D.C.E

2.B.AD.CE
3. AB.C.D.E
4 B.A.CD.E

Options :

686340192289. 1
686340192290. 2
686340192291. 3
686340192292. 4



Question Number : 74 Question Id : 68634048676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Put the following agencies of Education in the sequence of their impact on personality development of a

child.

A, Peer Group
B. Fanmuly
C. Society
D. School

Choose the correct answer from the options given below:
1.B.AD.C
2.ABD.C
3.AB.CD
4. BACD
Options :
686340192293. 1
686340192294. 2

686340192295. 3
686340192296. 4

Question Number : 74 Question Id : 68634048676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad Rigor dwursii ot fh 3l dres &t afdda & fder U Us- ard YHid & 3-bH H ogaiiyd

A, GHEHE TG
B.
C. g

D.3xd
-4 fau Tt fowedi O 9 Tl SR &1 994 fofor
1.B.ADC
2.ABD.C
3.AB.CD
4 B.ACD
Options :
686340192293 1

686340192294. 2
686340192295. 3



686340192296. 4

Question Number : 75 Question Id : 68634048677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following are the first five categories of bloom's taxonomy. Choose the correct sequence.

A. Knowledge

B. Analysis

C. Applications

D. Synthesis

E. Comprehension

Choose the correct answer from the options given below:

1. ACEBD

| )

A ECB.D
3,ABECD
4. AB.CD.E

Options :

686340192297. 1
686340192298. 2
686340192299. 3
686340192300. 4

Question Number : 75 Question Id : 68634048677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&TH & Fifep=uT & YuH uig o Fafafad 8 9t sy @1 9g- Fifou |

A3

B. fageryor
C. 3UgAT

D. JLyuy
E. dlY

i fau 7Te fdsedl T T gl STR &1 9g9 Bifog

1.ACEB.D

2.AECBD
3. ABECD
4 AB.C.D.E

Options :



686340192297. 1
686340192298. 2
686340192299. 3
686340192300. 4

Question Number : 76 Question Id : 68634048678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Put the following steps of micro-teaching in a sequence.

A. Teach
B.Plan

C. Re-plan
D. Feedback
E. Re-Teach

Choose the correct answer from the options given below:
1. ABD.CE
2.BADCE
3. BADEC
4. B.A.C.D.E

Options :

686340192301. 1
686340192302. 2
686340192303. 3
686340192304. 4

Question Number : 76 Question Id : 68634048678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y& TR1ern & afafad 9=ull @1 3y § ogaiyd Hify

A TG
B. Tl &=
C. G: IS &1

D. ﬁg@%
E.
e fau e fawedl o 9 98t SR @1 909 Biforg
1. ABD.CE
2.BADCE
3.BADEC
4. B.A.CD.E

Options :

686340192301. 1
686340192302. 2
686340192303. 3
686340192304. 4

Question Number : 77 Question Id : 68634048679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meanings of psychology have undergone many changes. choose the correct sequence:

A. Science of Behaviour

B. Science of Consciousness
C. Science of Soul

D. Science of Mind

Choose the correct answer from the options given below:

1.AB.D.C

[ ]

.C.DB.A
3.C.B.D.A
4. B.CD.A

Options :

686340192305. 1
686340192306. 2
686340192307. 3
686340192308. 4



Question Number : 77 Question Id : 68634048679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIfaTH & 3 & &g uRad- gu g | Uel 3T &1 99 Bl

A. deR fasm
B. Td- fag=

C. 31 fage

D. B faqiA

- feu T fowedl O 9 el SR &1 994 Siforg

1. ABD.C

| )

. C.D.B.A
3.CBDA
4. B.CDA

Options :

686340192305. 1
686340192306. 2
686340192307. 3
686340192308. 4

Question Number : 78 Question Id : 68634048680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of creative problem solving:

A. Incubation

B. Preparation
C. Verification
D. Illumination

Choose the correct answer from the options given below:
1.AB.CD
2.ABD.C
3. B.ACD

4. B.ADC

Options :

686340192309. 1
686340192310. 2
686340192311. 3
686340192312. 4



Question Number : 78 Question Id : 68634048680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oS THW FH1YH & Hafafed =Rl of sgafeyd Sifey

-4 fau T fowedl O 9 el SR &1 994 Sifor

1.AB.CD

| ]

ABD.C
3.B.ACD
4. B.AD.C

Options :

686340192309. 1
686340192310. 2
686340192311. 3
686340192312. 4

Question Number : 79 Question Id : 68634048681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in historical chronology:

A Kothari Education Commission
B. Acharya Rammurti Committee
C. Mudaliar Commission
D.N.E.P- 1986

E. Right to Education Act

Choose the correct answer from the options given below:
1. A-D-C-B-E
2. E-C-B-A-D
3. C-A-D-B-E
4. C-E-B-A-D
Options :
686340192313. 1

686340192314. 2
686340192315. 3



686340192316. 4

Question Number : 79 Question Id : 68634048681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad & ufdsiRie Srarmy d goaafud iy

A. DISRT e amam

B. =R IHH! |l

C. HaTCR ST

D. T4.3.4l( fRremm ifd) 1086
E. a1 fferfas

-4 fau T fowedl O 9 el SR &1 994 Sifor

1. A-D-C-B-E

2. E-C-B-A-D

3. C-A-D-B-E

4, C-E-B-A-D
Options :
686340192313. 1
686340192314. 2

686340192315. 3
686340192316. 4

Question Number : 80 Question Id : 68634048682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Micro Teaching Provided a practice setting for instruction in which the normal complexities of
the classroom are reduced and which a teacher receives a great deal of feedback on his performance.

Statement II: The four components of micro-teaching are modeling, feedback. setting and simulation
teaching.

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement I1 is true

Options :
686340192317. 1



686340192318. 2
686340192319. 3
686340192320. 4

Question Number : 80 Question Id : 68634048682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. PYT I T ©. dfbT HUT 11 T &

4. PYT I E. AT PYT LTI &

Options :

686340192317. 1
686340192318. 2
686340192319. 3
686340192320. 4

Question Number : 81 Question Id : 68634048683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Education determines aims and psychology decides which aims can be attained.

Statement II: Insight means penetration into the nature of things to find out the solution of a problem without
necessary trial and error.

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :



686340192321. 1
686340192322. 2
686340192323. 3
686340192324. 4

Question Number : 81 Question Id : 68634048683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Lag
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Options :

686340192321. 1
686340192322. 2
686340192323. 3
686340192324. 4

Question Number : 82 Question Id : 68634048684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Growth and development result from an mteraction of Heredity and Environment.
Statement IT: Growth moves from generalisation to differentiation and integration.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
686340192325. 1
686340192326. 2

686340192327. 3
686340192328. 4

Question Number : 82 Question Id : 68634048684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁmﬁ[{m%:
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Options :

686340192325. 1

686340192326. 2

686340192327. 3
686340192328. 4

Question Number : 83 Question Id : 68634048685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Internet uses a protocol called TCP/IP to allow computer to communicate.

Statement IT: Voice mail digitizes outgoing voice message and stores them in sender’s mailbox in digitized
torm.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are correct

| ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
686340192329. 1
686340192330. 2

686340192331. 3
686340192332. 4

Question Number : 83 Question Id : 68634048685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁmﬁ[{m%:
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Options :

686340192329. 1
686340192330. 2
686340192331. 3
686340192332. 4

Question Number : 84 Question Id : 68634048686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Blank paper is an example of Software.
Statement IT: Slide 1s an example of Hardware.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

| B

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

686340192333. 1
686340192334. 2
686340192335. 3
686340192336. 4

Question Number : 84 Question Id : 68634048686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR syafiumue.

HYU I BRI BT TIFedaR B UH JSgRUI§ |
YT I-TES SIST0R ] UH SSERU &

SR HYF & AP B.A1d faU U famed] 8 9 Tt 3wk &1 99 SIfIg:
1. DU SR A &

2. YT AR I EFT ST o

3. YT 1 I ¢, dfbT YT II 3T ©

4. FYT IS, APT PYT LTI &

Options :

686340192333. 1
686340192334. 2
686340192335. 3
686340192336. 4

Question Number : 85 Question Id : 68634048687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Hardware approach tries to adopt a process oriented approach.
Statement IT: Software approach tries to adopt a product-oriented approach.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
686340192337. 1
686340192338. 2

686340192339. 3
686340192340. 4

Question Number : 85 Question Id : 68634048687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁﬁﬂ?ﬁqﬁq%:

HY I: BIS0dR SUFTH U ishdT 3@ SUNTH B T8 B2 WaTH HId1 §
HYA 11: W AR IR U 3G 398 SUNTH B Ug0T B 1 U Bl &

SR DY & el §.A1d 3T MU fadedi I 3 998 Suged IR &1 99 HIfIT:
1. YA R I EH T &

2. FYTI AR I SHT AT ©

3. PYT I T ¢, dfb HYF I 3T &

4. YT IS, APTFYT I T &

Options :

686340192337. 1
686340192338. 2
686340192339. 3
686340192340. 4

Question Number : 86 Question Id : 68634048688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The word Philosophy' has come from two Greek terms namely "Philos" which means love and
"Sophia" which means wisdom.

Statement IT: The word 'Darshan’ is derived from "Drish" root of Sanskrit which denotes the act of seeing or
looking at.

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement IT is correct

Options :

686340192341. 1
686340192342. 2
686340192343. 3
686340192344. 4

Question Number : 86 Question Id : 68634048688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%fa*laﬂl:rﬁqm%:

?Ff 1. Th D! eg Hidh UTHT & & Weg Tha Ry SR sar I &1 3 e ol sawr: 39 3R 39
P 112X Ve S d b T YIes TN S ORI TR & Sl 6 T Sawieh o i &l FRETu el §

SWIad DY & 3l H.-14 iU U fae eyl § 9 &8 Suad IR &l 999 DI
1, ®YT 1 3R 11 SH 9 &
2. FUA IR I SHT SEA §

3. FYTI IO e, AfPT YT 11 3T &

4. HYTI A B, AfpT PUT I Td ©

Options :

686340192341. 1
686340192342, 2
686340192343. 3
686340192344. 4

Question Number : 87 Question Id : 68634048689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following does not belong to Buddhist era :

A. Nalanda University

B. Shanti Niketan

C. Takshshila University
D. Vikramshila University
E. Vallabhi University

Choose the correct answer from the options given below

1. D only

[ )

. E only
3. Aand C only
4. B only

Options :

686340192345. 1
686340192346. 2
686340192347. 3
686340192348. 4

Question Number : 87 Question Id : 68634048689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Feffad 3 3P e 713 Tefa T 3 2

A. Ardier fayfaemey

B. 9iifd A=

c. defferan foufaemeay
D. [awafen fayfdenag
E. dearH fayfa=nay

14 feu T oo ol O § a9 I9ged SR &1 999 HifolL;
1.%dd D
2. PAUE
3. HAAAIARC
4. 9duB

Options :

686340192345. 1
686340192346. 2
686340192347. 3
686340192348. 4



Question Number : 88 Question Id : 68634048690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Bismillah Khani" the ritual for initiation mto the Islamic Education is done at the age of :

A. 9 years 9 months 9 days

Choose the correct answer from the options given below

1. B only

[ ]

. C only
3.D only

4. A and B only

Options :

686340192349. 1
686340192350. 2
686340192351. 3
686340192352. 4

Question Number : 88 Question Id : 68634048690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
St R 1 Sy S & forg fafireen @ A e sy fow g & fbar o g 2

A ogdonEofea

B.ed¥ s ATE 8 faA

C.6a8 6 AIE 6 faA

D.4d¥4Tg 43T

E.sa¥smesfea

i fau U fae el ¥ O 98 U SR 1 99 BIfuIU:

1. $dd B

2.%4d C

3. %ad D

4. Had A AR B

Options :
686340192349. 1




686340192350. 2
686340192351. 3
686340192352. 4

Question Number : 89 Question Id : 68634048691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wood's Despatch, the education report by Sir Charles Wood was given in the year:

A. 1835
B. 1854
C. 1902
D. 1857
E. 1917

Choose the correct answer from the options given below:

1. B only

| )

. C only
3. D only
4. A& E only

Options :

686340192353. 1
686340192354. 2
686340192355. 3
686340192356. 4

Question Number : 89 Question Id : 68634048691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fren @1 gov foxg Qfée Ruid W 9 g5 §R1 oy a9 wegd &1 Tt ot 2

A, 1835
B. 1854
C. 1902
D. 1857
E. 1917

19 f3u Tt fasedl § 9 el I9ged SR &1 99 Difalg:
1.%dd B

. ad C

3.%ddD

4. PAAAARE

[ ]



Options :

686340192353. 1
686340192354. 2
686340192355. 3
686340192356. 4

Question Number : 90 Question Id : 68634048692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
10+2+3 System ot education was first proposed by:

A. Mudaliar Commission (Secondary Education Conumnission)
B. Kothari Commission (1964-66)

C. NEP 1986

D. Ram Murti Committee

E. Janardan Reddy Committee

Choose the correct answer from the options given below:

1. Aonly

[ )

. C only
3. B only

4.D and E only

Options :

686340192357. 1
686340192358. 2
686340192359. 3
686340192360. 4

Question Number : 90 Question Id : 68634048692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



218 @1 10+2+3 YoTelt 9duyH forgds gRT warfad fasar ma ot 2

A. TeTeRIR g (HTeAtie R )
B. BISRI ST (1964-66)

C. T34t 1986

D. ¥/ gfd 9iafd

E. g1 winfd

19 f3u Tt fasedl § 4 &l I9ged SR &1 999 DifIu:

1. Fdd A
2. Had C
3. %dd B
4. HdAD 3RE

Options :

686340192357. 1

686340192358, 2

686340192359. 3
686340192360. 4

Question Number : 91 Question Id : 68634048693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jawahar Navoday Vidyalayas were opened on the recommendation of:

A. Kothari Commission

B. Radha Krishan Commission
C. Mudaliar Commission

D. Birla - Ambani Report

E. NEP-1986

Choose the correct answer from the options given below:

1. E only

[ )

. A only
3. C only
4.B & D only

Options :

686340192361. 1
686340192362. 2
686340192363. 3
686340192364. 4



Question Number : 91 Question Id : 68634048693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SlaTe} Taled faeed feget S=ie R @l e 92

A. BIBRT HTTNT

B. JYTHW ST

C. HafemR SmanT

D. faRan. sar fard
E. U934t -1086

A9 f3u T fasedl § 4 &l I9gad SR &1 9g9 DifaIu:
1. PdAE
2. Bad A
3. %aq C
4. $TAB R D

Options :

686340192361. 1
686340192362. 2
686340192363. 3
686340192364. 4

Question Number : 92 Question Id : 68634048694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the Odd one:
A Delhi University
B. Banaras Hindu University
C. Aligarh Muslim University
D. Indira Gandhi National Open University
E. Jawaher Lal Nehru University

Choose the correct answer from the options given below:

1. A& C only

[ ]

. A& B only
3. E only
4. D only
Options :

686340192365. 1
686340192366. 2



686340192367. 3
686340192368. 4

Question Number : 92 Question Id : 68634048694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fawH @t geaH Doy

A, Teoell fayfaegmera

B. 59 g3 fayfaemey

C. 3feiTe gfeaH fayfaenay

D. 5a1 TITel A1y Had fayfaenca
E. SIaIER A1d "% [ayidgay

19 f3u T fasedl ¥ 4 &l I9gad SR &1 99 Difolg:
1. B AR C
2. PHad A 3R B
3. PAUE
4.99dD

Options :

686340192365. 1
686340192366. 2
686340192367. 3
686340192368. 4

Question Number : 93 Question Id : 68634048695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Women Education Committee (1958) was chaired by:

A. Durgabai Deshmukh
B. Hansa Mehta

C. Sarojim Naidu

D. Indira Gandhi

E. Sucheta Kriplani

Choose the correct answer trom the options given below:

1. D only

[

. E only
3. A only

4. B only



Options :

686340192369. 1
686340192370. 2
686340192371. 3
686340192372. 4

Question Number : 93 Question Id : 68634048695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST wige e FAR (1958) B e g &1 4t 2
A g aTg &=gE
B. guT dgdl
C. WIS A1gg
D. Sia=1 7Tl
E. gAd1 HUar!

i AU Y fdeedi O O 998 U ST &1 99 BIfoIg:
1. %dd D
2. HAdE
3. PddA

4. HddB

Options :

686340192369. 1
686340192370. 2
686340192371. 3
686340192372. 4

Question Number : 94 Question Id : 68634048696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Metaphvsics 1. |Study of knowledge
Epistemology | II. |Study of Reality
A xiology III. [Love of wisdom
Philosophy IV |Study of the best ways to live

T REE

Choose the correct answer trom the options given below:

1. A-II. B-L. C-III. D-IV

[ E)

. A-L B-II, C-III. D-IV
3. A-IL B-I. C-IV, D-III
4. A-I. B-II, C-IV, D-III

Options :

686340192373. 1
686340192374. 2
686340192375. 3
686340192376. 4

Question Number : 94 Question Id : 68634048696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
Gl Tt 11
A. [JdEEm 1. [{H &1 31ea
B. [g= dEign 1. [arEdidhd] &7 g
C [Hodmm  |m gedmm
D. [g2lH I IV. [Slia4 SiF & 9aiad diid! &l Ea-

=i fau U f[d@eql § O 9al 37 &1 904 Bifelu

1. A-II. B-I. C-III. D-IV

|

. A-LB-IL, C-II1. D-IV
3. A-IL B-I. C-IV, D-III
4. A-1. B-I1. C-IV, D-III

Options :

686340192373. 1
686340192374. 2
686340192375. 3
686340192376. 4



Question Number : 95 Question Id : 68634048697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Aesthetic Needs 1. [Food
B. [Cognitive Needs II. |Appreciation of beauty
C. [Esteem Needs III. [Development of knowledge & understanding
D. [Physiological Needs | IV. |feclings of Achievement & competence

Choose the correct answer from the options given below:

1. A-II. B-I1I, C-I. D-IV

| )

A-IL B-IIL C-IV, D-I
3. A-IL B-III. C-IV. D-I
4, A-II1, B-1I. C-1. D-IV

Options :

686340192377. 1
686340192378. 2
686340192379. 3
686340192380. 4

Question Number : 95 Question Id : 68634048697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

Tq I T II
Hicald® Hagddd | 1 [HeH
OIS AERgHd | 1L [Ead & U=iEn
T HTaRgHd 111 [{H 3R 992 &1 [dard
QIR aRgddy |1V [Suafe 3R &mdl & 3ufd

=i fau Y famedi & 9 Hel SR &1 99 Difen -

1. A-IL. B-IIL. C-LI. D-IV

REE

| ]

AL B-ITL C-IV, D-I
3. A-IIL, B-III, C-IV. D-I
4. A-III, B-1I. C-1. D-IV

Options :

686340192377. 1

686340192378. 2
686340192379. 3



686340192380. 4

Question Number : 96 Question Id : 68634048698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LIST I (Key : :
(Ke; LIST II (Their meanings)
Terms)
A |Encoding I |converting a code into message
B. [Decoding II. |converting a message into code
A formative test for assessing the student's
C. [Pre-Test IIL : il
N knowledge, reading and availability
- |A summative test for assessing the students
D. [Post-Test V. . : =
perfonmance afier learning

Choose the correct answer trom the options given below:
1. A-I B-II. C-III. D-IV
2. A-IL B-L. C-IV. D-III
3. A-IL B-L. C-IIL. D-IV
4. A-II, B-III, C-L. D-IV

Options :

686340192381. 1
686340192382. 2
686340192383. 3
686340192384. 4

Question Number : 96 Question Id : 68634048698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T L T 1
A [Be-TE L[5 Big &1 Yol § uRadd
B [[dpcoad | 11 [[odl a2 & 1S § uRdad
c l@dademr  |m el & 9 JaRdl AR IUaeRdl &

|e@e S & ol & GoTd® THam

 [Faentear & st & oy ueRH &1
D. [0y _g3[&mr IV 3@9_{,1:[@3[%@@%‘ T
i fau T fasedl O U 9ol SR &1 99 $ifoid ;

1. A-I. B-II. C-III. D-IV
2. A-IL B-I. C-IV, D-III
3. A-IL B-1. C-III. D-IV
4, A-II. B-III. C-I. D-IV

Options :

686340192381. 1

686340192382. 2

686340192383. 3
686340192384. 4

Question Number : 97 Question Id : 68634048699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Teaching and Categorv)| LIST II (Example)

A |Visual (Non-Projected) Aid | [ |Slide

B. |Audio Aid II. [Television

C. [Visual (Projected) Aid 11 |Radio Broadcast
D. [Audio-Visual Projected IV, [Poster

Choose the correct answer from the options given below:

1. A-I. B-II. C-II1. D-IV
2. A-IL B-I, C-IV. D-III
3. A-IV. B-IIL. C-I1. D-1
4. A-IV. B-III. C-1. D-IT

Options :

686340192385. 1

686340192386. 2

686340192387. 3
686340192388. 4



Question Number : 97 Question Id : 68634048699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore

I 1 (AT e a1) T 11 (SSEN0)

A B9 AR U&w) Yergdl | 1 [WEs

B. |srem geman 11 [g3aEH

C. [F%U (&) Tgrgdl 111. Rfg warRu
D. |90 TR0 UaE IV. [oRex

i fau U faeedl O O 98 Uged TR &1 99 BIfwg:

1. A-I, B-II. C-III. D-IV

|

. A-IL B-L, C-IV, D-III
3. A-IV. B-IIL. C-I1. D-I
4. A-IV. B-IIL. C-I. D-II

Options :

686340192385. 1
686340192386. 2
686340192387. 3
686340192388. 4

Question Number : 98 Question Id : 68634048700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Theories of learning) |LIST II (Inventor)

A |Cognitive Theory 1. |Thorndike
B. [Social Development II. [Skinner
C. |5-R Theorv of learning I11. |Piaget
D. |Operant Conditioning Theorv | IV. [Vygotsky

Choose the correct answer from the options given below:

1. A-II. B-I, C-IV,. D-II

| )

CA-IL B-IV. C-I1, D-II
3. A-IIT, B-11, C-1. D-IV
4, A-I11, B-1. C-II. D-IV
Options :

686340192389. 1
686340192390. 2



686340192391. 3
686340192392. 4

Question Number : 98 Question Id : 68634048700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

Tt 1(HTT & Wgia) |G nEnTsn)
A [HHTES fagid I [HER®

B. [amifei® 9o fisidl 1L [

C. [aferTE® s R Rgid | I [oars

D. [fepr wyd fgid IV, [A13TIcHd!

= fqu 0 famedi § O Uel 3T &1 904 I

1. A-II. B-I. C-IV. D-II

|

AL B-IV. C-1. D-IT
3. A-IIL B-1I. C-1. D-IV
4. A-IIT, B-1, C-1II. D-IV

Options :

686340192389. 1
686340192390. 2
686340192391. 3
686340192392. 4

Question Number : 99 Question Id : 68634048701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LIST1I LISTII
. |Project Method I .5 Brunner
Discovery Strategy II. [WH. Kilpatric

Question-Answer Strategy | I |JArm Strong
. [Heuristics Teaching Strategy | IV, |Socrates

o] fo] [o=] Feg

Choose the correct answer trom the options given below:

1. A-II. B-L. C-III. D-IV

[ E)

. A-ITL B-1, C-IV, D-IIT
3. A-L. B-II, C-III. D-IV
4. A-I11. B-1. C-II. D-IV

Options :



686340192393. 1
686340192394. 2
686340192395. 3
686340192396. 4

Question Number : 99 Question Id : 68634048701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore
T I T 11
A famufaly [ 1 FogeR
B. [praumi fafy | 0 [Seq wd fpauics
c. parRfaty | [smiei
D. [ggiiiEs faly| v [gaad
i fau 7T faeedl © I el STk &1 99 Hifoil :

1. A-TI. B-I. C-1II. D-IV

|

. A-IL B-L, C-IV, D-III
3. A-L. B-I1, C-III. D-IV
4. A-III, B-I, C-II. D-IV

Options :

686340192393. 1
686340192394. 2
686340192395. 3
686340192396. 4

Question Number : 100 Question Id : 68634048702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I (Tyvpe of Motives)|LIST II (Elements)
. |Innate Motive I. |Comfort
Psvchological Motive] II. |Groupism

A quired Motive ITI. |Thirst

. |Artificial Motive IV |Criticism

wl o] =] i

Choose the correct answer from the options given below:

1. A-I. B-IL C-IIL. D-IV

| E)

AL B-1, C-IV. D-II
3. A-IL B-IV. C-I, D-II
4. A-I11. B-1. C-II. D-IV

Options :

686340192397. 1
686340192398. 2
686340192399. 3
686340192400. 4

Question Number : 100 Question Id : 68634048702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

|

AL B-1L C-IV. D-IT
3. A-IL B-IV. C-1. D-II
4. A-IIT, B-1, C-1II. D-IV

Options :

686340192397. 1
686340192398. 2
686340192399. 3
686340192400. 4



